

CONCENTRATION FACTORS FOR FUNCTIONS WITH HARMONIC BOUNDED MEAN VARIATION

L. HU and X. L. SHI*

College of Mathematics and Computer Science, Hunan Normal University,
Changsha, Hunan, 410081, China
e-mail: hu0hu_1389@163.com, xianliangshi@yahoo.com

(Received December 22, 2005; accepted March 22, 2006)

Abstract. We discuss determination of jumps for functions with generalized bounded variation. The questions are motivated by A. Gelb and E. Tadmor [1], F. Móricz [5] and [6] and Q. L. Shi and X. L. Shi [7]. Corollary 1 improves the results proved in B. I. Golubov [2] and G. Kvernadze [3].

§1. Introduction

Set $T := [-\pi, \pi)$. Let $L(T)$ denote the set of all periodic and integrable functions with period 2π . For any $f \in L(T)$ denote by

$$(1.1) \quad S[f](x) := \frac{a_0}{2} + \sum_{k=1}^{\infty} A_k(x) = \frac{a_0}{2} + \sum_{k=1}^{\infty} (a_k \cos kx + b_k \sin kx)$$

and

$$(1.2) \quad \tilde{S}[f](x) := \sum_{k=1}^{\infty} \tilde{A}_k(x) = \sum_{k=1}^{\infty} (a_k \sin kx - b_k \cos kx)$$

*Supported by NSFC 10671062.

Key words and phrases: jump, bounded variation.

2000 Mathematics Subject Classification: primary 42A50, 42A16.

its Fourier series and conjugate Fourier series, respectively, where

$$a_k := \frac{1}{\pi} \int_{-\pi}^{\pi} f(t) \cos kt \, dt \quad \text{and} \quad b_k := \frac{1}{\pi} \int_{-\pi}^{\pi} f(t) \sin kt \, dt,$$

$k = 1, 2, 3, \dots$. The n -th partial sum of the series (1.1) and (1.2) are denoted by

$$S_n(f, x) := \frac{a_0}{2} + \sum_{k=1}^n A_k(x) \quad \text{and} \quad \widetilde{S}_n(f, x) := \sum_{k=1}^n \widetilde{A}_k(x),$$

respectively. It is well known that the jump of a function $f \in L(T)$ at its simple discontinuity $x = \xi$ can be determined in terms of the spectral data a_k and b_k , $k = 1, 2, 3, \dots$. Indeed, in 1920 F. Lukács [4] proved that *if the finite limit*

$$(1.3) \quad d_{\xi}(f) := \lim_{t \rightarrow 0^+} [f(\xi + t) - f(\xi - t)]$$

exists at some point $\xi \in (-\pi, \pi]$, then

$$(1.4) \quad \lim_{n \rightarrow \infty} -\frac{\pi \widetilde{S}_n(f, \xi)}{\ln n} = d_{\xi}(f).$$

(see A. Zygmund [10].)

The convergence in this way, however, is at the unacceptably slow rate of order $O(1/\ln n)$. To improve the convergence rate, in 1999 A. Gelb and E. Tadmor [1] introduced the method of concentration factors.

Let σ be a continuous function on $[0, 1]$. Denote

$$\widetilde{S}_n^{\sigma}(f, x) := \sum_{k=1}^n \sigma\left(\frac{k}{n}\right) \widetilde{A}_k(x).$$

If the limit (1.3) exists at ξ and $\lim_{n \rightarrow \infty} \widetilde{S}_n^{\sigma}(f, \xi) = d_{\xi}(f)$, then we call

$$\left\{ \sigma\left(\frac{k}{n}\right) \right\}_{k=1, \dots, n; n=1, 2, \dots}$$

the concentration factors of f at the point ξ .

A. Gelb and E. Tadmor [1] established a criterion of concentration factors. Later Q. L. Shi and X. L. Shi [7] proved the following improvement.

THEOREM A. Assume $\xi \in T$ and $\sigma \in \text{Lip}_1[0, 1]$. Then for any $f \in D_\xi$, the factors $\{\sigma(\frac{k}{n})\}_{k=1, \dots, n; n=1, 2, \dots}$ are concentration factors of f at $x = \xi$ if and only if

$$(1.5) \quad \int_0^1 \frac{\sigma(x)}{x} dx = -\pi,$$

where D_ξ denotes the set of functions of $f \in L(T)$ that satisfy

- (i) $d_\xi(f)$ exists,
- and
- (ii) $\frac{f(\xi+t) - f(\xi-t) - d_\xi(f)}{t} \in L[0, \pi]$.

It is not hard to see that a BV function is not necessary to satisfy the condition (ii). The aim of the present paper is to establish a criterion of concentration factors for functions which have some kind of BV property. To state the results we introduce some definitions first.

Let $\Lambda = \{\lambda_n\}$ be a non-decreasing sequence of positive numbers that satisfy $\sum_{n=1}^{+\infty} 1/\lambda_n = \infty$. Suppose that f is a real function defined on an interval $[a, b]$. $\{I_n\}$ will denote a sequence of non-overlapping intervals $I_n = [a_n, b_n]$, $[a_n, b_n] \subset [a, b]$ and write $f(I_n) = f(b_n) - f(a_n)$.

A function f is said to be of Λ -bounded variation ($\Lambda\text{BV}[a, b]$) if

$$\sup_{\{I_n\}} \sum_{n=1}^{+\infty} |f(I_n)|/\lambda_n < \infty.$$

For $\Lambda = \{n\}$, i.e.

$$\sup_{\{I_n\}} \sum_{n=1}^{+\infty} |f(I_n)|/n < \infty,$$

we say that f is of harmonic bounded variation ($\text{HBV}[a, b]$).

The concept ΛBV was introduced by D. Waterman [9] in 1972. Later, in 1985 the second author generalized this class to ΛBMV .

A function f is said to be of Λ -bounded mean variation ($\Lambda\text{BMV}[a, b]$) if

$$\sup_{\{I_n\}} \sum_{n=1}^{+\infty} \mu_{I_n}(f)/\lambda_n < \infty,$$

where

$$\mu_{I_n}(f) = \frac{1}{|I_n|} \int_{I_n} |f(x) - f_{I_n}| dx, \quad f_{I_n} = \frac{1}{|I_n|} \int_{I_n} f(x) dx.$$

For $\Lambda = \{n\}$, i.e.

$$\sup_{\{I_n\}} \sum_{n=1}^{+\infty} \mu_{I_n}(f)/n < \infty,$$

we say that f is of harmonic bounded mean variation ($\text{HBMV}[a, b]$). It was proved in [8] and [9] that if $\lambda_n \uparrow \infty$ then $\text{BV} \subsetneq \Lambda\text{BV} \subsetneq \Lambda\text{BMV}$.

In Section 3 we will prove the following.

THEOREM 1. *Assume that $\sigma \in \text{Lip}_1[0, 1]$ satisfies $\int_0^1 \frac{\sigma(x)}{x} dx = -\pi$ and $\xi \in T$. If $f \in L(T) \cap \text{HBMV}[\xi - \delta, \xi + \delta]$ for some $\delta > 0$ and the limit $d_\xi(f)$ exists, then $\{\sigma(\frac{k}{n})\}_{k=1, \dots, n; n=1, 2, \dots}$ are concentration factors of f at the point ξ .*

In Theorem 1 the class HBMV is best possible in the following sense.

THEOREM 2. *If $\text{HBMV} \subsetneq \Lambda\text{BMV}$, then the conclusion of Theorem 1 is not true when we replace $\text{HBMV}[\xi - \delta, \xi + \delta]$ by $\Lambda\text{BMV}[\xi - \delta, \xi + \delta]$.*

REMARK 1. The function

$$f(x) = \begin{cases} 1, & \text{if } 1/2 < x \leq \pi; \\ 1/|\ln x|, & \text{if } 0 < x \leq 1/2; \\ 0, & \text{if } -\pi < x \leq 0; \\ f(x + 2\pi), & \text{if } x \in R. \end{cases}$$

has bounded variation on T , but it is not in D_0 .

REMARK 2. Let V_p , $p \geq 1$, denote the set of all functions f that satisfy

$$\sup_{I_n \subset (-\pi, \pi]} \left(\sum_n |f(I_n)|^p \right)^{\frac{1}{p}} < \infty,$$

where the ‘‘sup’’ is taken over all non-overlapping intervals I_n . B. I. Golubov [2] proved that if $f \in V_p$, $p \geq 1$, then the identities

$$(1.6) \quad \lim_{n \rightarrow \infty} \frac{(-1)^r (2r+1)\pi}{n^{2r+1}} S_n(f, \xi)^{(2r+1)} = d_\xi(f)$$

and

$$(1.7) \quad \lim_{n \rightarrow \infty} \frac{(-1)^{r+1} 2r\pi}{n^{2r}} \widetilde{S}_n(f, \xi)^{(2r)} = d_\xi(f)$$

hold. Later, G. Kvernadze [3] proved (1.6) and (1.7) for $f \in \text{HBV}$. Since $V_p \subsetneq \text{HBV}$, Kvernadze improved Golubov's results. The identities (1.6) and (1.7) can be rewritten as one formula, i.e.

$$(1.8) \quad \lim_{n \rightarrow \infty} \frac{-p\pi}{n^p} \sum_{k=1}^n k^p \widetilde{A}_k(\xi) = d_\xi(f),$$

where p is any natural number. By our Theorem 1 we can prove that the identity (1.8) holds for any positive p , i.e. we have the following

COROLLARY 1. *Assume that $\xi \in T$, $f \in L(T)$ and the finite limit (1.3) exists. If $f \in D_\xi$ or $f \in \text{HBMV}[\xi - \delta, \xi + \delta]$ for some $\delta > 0$, then (1.8) holds for any $p > 0$.*

The proof of Corollary 1 will be given in Section 3.

REMARK 3. Indeed we proved that for different p , all (1.8) are equivalent to each other (see Lemma 5). Therefore (1.6) and (1.7) are equivalent.

REMARK 4. If $f \in \Lambda\text{BV}$ then the finite limit (1.3) exists everywhere. But this proposition is not true for the class ΛBMV (see D. Waterman [9] and X. L. Shi [8]). Hence in Theorem 1 and Corollary 1 we assume that the limit (1.3) exists.

Based on F. Móricz's results in [5] and [6], Q. L. Shi and X. L. Shi [7] introduced the concept of "concentration factors of Abel–Poisson type". Let μ be a continuous function on $[0, \infty)$ that satisfies $\mu(0) = 0$ and

$$|\mu(x)| = O((1+x)^M), \quad \text{as } x \rightarrow \infty,$$

where $M \geq 0$. For $f \in L(T)$, the series

$$\widetilde{P}_r^\mu(f, x) := \sum_{k=1}^{\infty} \mu((1-r)k) \widetilde{A}_k(x) r^k, \quad 0 \leq r < 1,$$

is convergent everywhere. If the limit (1.3) exists at ξ and

$$\lim_{r \rightarrow 1-0} \widetilde{P}_r^\mu(f, \xi) = d_\xi(f),$$

then we call

$$(1.9) \quad \left\{ \mu((1-r)k) \right\}_{k=1,2,\dots; 0 \leq r < 1}$$

the concentration factors of Abel–Poisson type for f at the point ξ . For $x > 0$ denote by $L_\mu(x)$ the Lipschitz norm of μ on $[0, x]$, i.e.

$$L_\mu(x) := \sup_{y,z \in [0,x], y \neq z} \left| \frac{\mu(y) - \mu(z)}{y - z} \right| + \sup_{0 \leq y \leq x} |\mu(y)|.$$

Let Ω denote the set of all functions μ on $[0, \infty)$ that satisfy the following conditions:

- (iii) $\mu(0) = 0$,
- (iv) there exists $M \geq 0$ such that

$$(1.10) \quad L_\mu(x) = O((1+x)^M), \quad \text{as } x \rightarrow \infty.$$

Q. L. Shi and X. L. Shi proved the following:

THEOREM B. *Let $\xi \in T$, $f \in D_\xi$ and $\mu \in \Omega$. Then the factors (1.9) are concentration factors of Abel–Poisson type for f at the point ξ if and only if*

$$(1.11) \quad \lim_{r \rightarrow 1-0} \sum_{k=1}^{\infty} \frac{\mu((1-r)k)}{k} r^k = -\pi.$$

In Section 3 we will prove the following:

THEOREM 3. *Assume that $\mu \in \Omega$ satisfies (1.11) and $\xi \in T$. If $f \in L(T) \cap \text{HBMV}[\xi - \delta, \xi + \delta]$ for some $\delta > 0$ and the limit $d_\xi(f)$ exists, then the factors (1.9) are concentration factors of Abel–Poisson type for f at the point ξ .*

THEOREM 4. *If $\text{HBMV} \not\subseteq \text{ABMV}$, then the conclusion of Theorem 2 is not true if we replace $\text{HBMV}[\xi - \delta, \xi + \delta]$ by $\text{ABMV}[\xi - \delta, \xi + \delta]$.*

§2. Some lemmas

We need several preliminary lemmas.

LEMMA 1. *If $f \in L[a, b]$ then*

$$\lim_{\lambda \rightarrow \infty} \int_a^b f(t) e^{i\lambda t} dt = 0.$$

This is the well-known Riemann–Lebesgue lemma.

LEMMA 2. *Let $k, n \geq 1$ and $0 < t < \pi$. Then*

$$(2.1) \quad \frac{1 - \cos kt}{\tan \frac{t}{2}} = O(k^2 t), \quad \frac{t - 2 \tan \frac{t}{2}}{2t \tan \frac{t}{2}} = O(1), \quad \frac{1}{n} \sum_{k=1}^n (\ln n - \ln k) = O(1).$$

The proof of this lemma is easy, so we omit it.

LEMMA 3. *Under the assumption of Theorem 1, σ has the following property:*

$$\sigma(t) = O(t), \quad (t \rightarrow 0).$$

LEMMA 4. For $f \in \text{HBMV}[a, b]$ and $0 < \delta < b - a$, denote

$$\Delta(f, [a, a + \delta]) := \sup_{\{I_n\}} \sum_{n=1}^{+\infty} \mu_{I_n}(f) / \lambda_n,$$

where the “sup” is taken over all non-overlapping $I_n \subset [a, a + \delta]$. If f is right continuous at $x = a$, then

$$\lim_{\delta \rightarrow 0^+} \Delta(f, [a, a + \delta]) = 0$$

(see X. L. Shi [8]).

Let

$$\tau := \sum_{n=1}^{\infty} t_n,$$

and $p > 0$. Denote

$$\tau_n^p := \frac{p}{n^p} \sum_{k=1}^n k^p t_k.$$

We have the following

LEMMA 5. If $p_1, p_2 > 0$ and $p_1 \neq p_2$ then

$$(2.2) \quad \lim_{n \rightarrow \infty} \tau_n^{p_1} = l$$

if and only if

$$(2.3) \quad \lim_{n \rightarrow \infty} \tau_n^{p_2} = l.$$

PROOF. It is enough to prove one direction, i.e. (2.2) implies (2.3). If (2.2) holds, then by Abel transformation

$$\begin{aligned} \tau_n^{p_2} &= \frac{p_2}{n^{p_2}} \sum_{k=1}^n k^{p_2-p_1} k^{p_1} t_k \\ &= \frac{p_2}{n^{p_2}} \sum_{k=1}^{n-1} [k^{p_2-p_1} - (k+1)^{p_2-p_1}] \sum_{j=1}^k j^{p_1} t_k + \frac{p_2}{n^{p_2}} n^{p_2-p_1} \sum_{j=1}^n j^{p_1} t_k \\ &= \frac{p_2}{p_1 n^{p_2}} \sum_{k=1}^{n-1} [k^{p_2-p_1} - (k+1)^{p_2-p_1}] k^{p_1} \tau_k^{p_1} + \frac{p_2}{p_1 n^{p_2}} n^{p_2-p_1} n^{p_1} \tau_n^{p_1}. \end{aligned}$$

By (2.2) we have $\tau_k^{p_1} = l + o(1)$. Hence

$$(2.4) \quad \tau_n^{p_2} = \left(\frac{p_2}{p_1 n^{p_2}} \sum_{k=1}^{n-1} [k^{p_2-p_1} - (k+1)^{p_2-p_1}] k^{p_1} l + \frac{p_2}{p_1} l \right) \\ + \left(\frac{p_2}{p_1 n^{p_2}} \sum_{k=1}^{n-1} [k^{p_2-p_1} - (k+1)^{p_2-p_1}] k^{p_1} o(1) + \frac{p_2}{p_1} o(1) \right) = I_1 + I_2,$$

say. Since

$$k^{p_2-p_1} - (k+1)^{p_2-p_1} = O(k^{p_2-p_1-1}),$$

for positive p_2 we have

$$(2.5) \quad I_2 = \frac{1}{n^{p_2}} \sum_{k=1}^{n-1} O(k^{p_2-1}) o(1) + o(1) = o(1).$$

Next let us consider I_1 :

$$(2.6) \quad I_1 = \frac{p_2}{p_1 n^{p_2}} \sum_{k=1}^{n-1} [k^{p_2} - (k+1)^{p_2}] l + \frac{p_2}{p_1} l \\ + \frac{p_2}{p_1 n^{p_2}} \sum_{k=1}^{n-1} (k+1)^{p_2-p_1} [(k+1)^{p_1} - k^{p_1}] l \\ = \frac{p_2}{p_1} \frac{l}{n^{p_2}} + \frac{p_2}{p_1 n^{p_2}} \sum_{k=1}^{n-1} (k+1)^{p_2} \left(1 - \left(\frac{k}{k+1} \right)^{p_1} \right) l \\ = o(1) + \frac{p_2}{p_1 n^{p_2}} \sum_{k=1}^{n-1} (k+1)^{p_2} \left(\frac{p_1}{k+1} + O\left(\frac{1}{k^2} \right) \right) l = l + o(1).$$

By combining (2.4)–(2.6) we obtain (2.3). \square

LEMMA 6. Let $\tau := \sum_{n=1}^{\infty} t_n$. Assume that $\mu \in \Omega$ and satisfies (1.11). If

$$(2.7) \quad \lim_{n \rightarrow \infty} \tau_n^1 = \lim_{n \rightarrow \infty} \frac{1}{n} \sum_{k=1}^n k t_k = l,$$

then

$$(2.8) \quad Q(r) := \sum_{k=1}^{\infty} \mu((1-r)k) t_k r^k \rightarrow -\pi l \quad \text{as } r \rightarrow 1-0.$$

PROOF. By Abel transformation

$$Q(r) = \sum_{k=1}^{\infty} \left[\frac{\mu((1-r)k)}{k} - \frac{\mu((1-r)(k+1))}{k+1} r \right] k \tau_k^1 r^k.$$

By (2.7), $\tau_n^1 = l + \varepsilon_n$ as $n \rightarrow \infty$ with $\varepsilon_n = o(1)$, hence

$$(2.9) \quad Q(r) = l \sum_{k=1}^{\infty} \left[\frac{\mu((1-r)k)}{k} - \frac{\mu((1-r)(k+1))}{k+1} r \right] k r^k \\ + \sum_{k=1}^{\infty} \left[\frac{\mu((1-r)k)}{k} - \frac{\mu((1-r)(k+1))}{k+1} r \right] k \varepsilon_k r^k = Q_1 + Q_2.$$

Under the assumption on μ we see that

$$(2.10) \quad \mu((1-r)k) = \begin{cases} O((1-r)k) & \text{if } (1-r)k \leq 1, \\ O((1-r)^M k^M) & \text{if } (1-r)k \geq 1, \end{cases}$$

and

$$(2.11) \quad \mu((1-r)k) - \mu((1-r)(k+1)) \\ = \begin{cases} O((1-r)), & \text{if } (1-r)k \leq 1, \\ O((1-r)(1-r)^M k^M), & \text{if } (1-r)k \geq 1. \end{cases}$$

If we write

$$\mu_{r,k} := \left[\frac{\mu((1-r)k)}{k} - \frac{\mu((1-r)(k+1))}{k+1} r \right] k \\ = [\mu((1-r)k) - \mu((1-r)(k+1))] + \left[\mu((1-r)(k+1)) \left(\frac{1}{k} - \frac{1}{k+1} \right) \right] k \\ + \left[\frac{\mu((1-r)(k+1))}{k+1} (1-r) \right] k,$$

then by (2.10) and (2.11) we obtain

$$\mu_{r,k} = \begin{cases} O((1-r)), & \text{if } (1-r)k \leq 1, \\ O((1-r)^M k^M), & \text{if } (1-r)k \geq 1. \end{cases}$$

Thus we have

$$(2.12) \quad |Q_2| = O\left((1-r) \sum_{k \leq \lfloor \frac{1}{1-r} \rfloor} |\varepsilon_k|\right) + O\left((1-r)^{M+1} \sum_{k > \lfloor \frac{1}{1-r} \rfloor} k^M |\varepsilon_k|\right) = o(1),$$

as $r \rightarrow 1 - 0$. Next we calculate Q_1 . It is not hard to see that

$$(2.13) \quad Q_1 = l \sum_{k=1}^{\infty} [\mu((1-r)k) - \mu((1-r)(k+1))] r^k \\ + l \sum_{k=1}^{\infty} \frac{\mu((1-r)(k+1))}{k+1} r^{k+1} = l \sum_{k=1}^{\infty} \frac{\mu((1-r)k)}{k} r^k = -\pi l + o(1),$$

as $r \rightarrow 1 - 0$. By combining (2.9), (2.12) and (2.13) we obtain (2.8). \square

§3. Proofs of the results

3.1. PROOF OF THEOREM 1. Set

$$\phi(x) = \begin{cases} \frac{\pi - x}{2\pi} & \text{if } 0 < x < 2\pi; \\ 0, & \text{if } x = 0; \\ \phi(x + 2\pi), & \text{if } x \in R. \end{cases}$$

and $g(x) = d_\xi(f)\phi(x - \xi)$. Write $f(x) = g(x) + h(x)$. Then we have

$$\widetilde{S}_n^\sigma(f, \xi) = \widetilde{S}_n^\sigma(g, \xi) + \widetilde{S}_n^\sigma(h, \xi).$$

It is clear that

$$(3.1) \quad \widetilde{S}_n^\sigma(g, \xi) = -\frac{d_\xi(f)}{\pi} \sum_{k=1}^n \frac{\sigma(\frac{k}{n})}{k} + o(1) = -\frac{d_\xi(f)}{\pi} \int_0^1 \frac{\sigma(x)}{x} dx + o(1),$$

and hence $\lim_{n \rightarrow \infty} \widetilde{S}_n^\sigma(g, \xi) = d_\xi(f)$. Therefore what we need to show is

$$(3.2) \quad \lim_{n \rightarrow \infty} \widetilde{S}_n^\sigma(h, \xi) = 0.$$

By Abel transformation

$$(3.3) \quad \widetilde{S}_n^\sigma(h, \xi) = \sum_{k=1}^{n-1} \left(\sigma \left(\frac{k}{n} \right) - \sigma \left(\frac{k+1}{n} \right) \right) \widetilde{S}_k(h, \xi) + \sigma(1) \widetilde{S}_n(h, \xi).$$

Let us estimate $\widetilde{S}_k(h, \xi)$ first. By the Dirichlet representation of the conjugate partial sum we have

$$(3.4) \quad \widetilde{S}_k(h, \xi) = -\frac{1}{\pi} \int_0^\pi \psi_\xi(t) \left(\frac{1 - \cos kt}{2 \tan \frac{t}{2}} + \frac{1}{2} \sin kt \right) dt,$$

where $\psi_\xi(t) = h(\xi + t) - h(\xi - t)$. Write

$$(3.5) \quad \begin{aligned} \widetilde{S}_k(h, \xi) &= -\frac{1}{\pi} \int_0^{\pi/k} \psi_\xi(t) \left(\frac{1}{2 \tan \frac{t}{2}} - \frac{\cos kt}{t} \right) dt - \frac{1}{\pi} \int_{\pi/n}^\pi \frac{\psi_\xi(t)}{2 \tan \frac{t}{2}} dt \\ &\quad + \frac{1}{\pi} \int_{\pi/n}^{\pi/k} \frac{\psi_\xi(t)}{2 \tan \frac{t}{2}} dt + \frac{1}{\pi} \int_0^\pi \psi_\xi(t) \left(\frac{1}{2 \tan \frac{t}{2}} - \frac{1}{t} \right) \cos kt dt \\ &\quad + \frac{1}{\pi} \int_{\pi/k}^\pi \frac{\psi_\xi(t)}{t} \cos kt dt - \frac{1}{\pi} \int_0^\pi \psi_\xi(t) \frac{1}{2} \sin kt dt \\ &= I_1 + I_2 + I_3 + I_4 + I_5 + I_6. \end{aligned}$$

By Lemma 1, we obtain

$$(3.6) \quad \lim_{k \rightarrow \infty} (|I_4| + |I_6|) = 0.$$

By Lemma 2,

$$(3.7) \quad \begin{aligned} |I_1| &= \frac{1}{\pi} \left| \int_0^{\pi/k} \psi_\xi(t) \left(\frac{t - 2 \tan \frac{t}{2} \cos kt}{2t \tan \frac{t}{2}} \right) dt \right| \\ &\leq \frac{1}{\pi} \int_0^{\pi/k} |\psi_\xi(t)| \left(\left| \frac{1 - \cos kt}{2 \tan \frac{t}{2}} \right| + \left| \frac{t - 2 \tan \frac{t}{2}}{2t \tan \frac{t}{2}} \right| \right) dt. \end{aligned}$$

Since $d_\xi(h) = 0$, we have

$$(3.8) \quad \lim_{t \rightarrow 0} |\psi_\xi(t)| = 0,$$

hence it follows from Lemma 2 that

$$(3.9) \quad |I_1| = o(1) \int_0^{\pi/k} O(k^2 t) dt + o(1) \int_0^{\pi/k} O(1) dt = o(1),$$

as $k \rightarrow \infty$. Thus we obtain

$$(3.10) \quad \begin{aligned} \widetilde{S}_k(h, \xi) &= -\frac{1}{\pi} \int_{\pi/n}^{\pi} \frac{\psi_\xi(t)}{2 \tan \frac{t}{2}} dt + \frac{1}{\pi} \int_{\pi/n}^{\pi/k} \frac{\psi_\xi(t)}{2 \tan \frac{t}{2}} dt \\ &\quad + \frac{1}{\pi} \int_{\pi/k}^{\pi} \frac{\psi_\xi(t)}{t} \cos kt dt + o(1), \end{aligned}$$

as $k \rightarrow \infty$. By combining (3.3) and (3.10) we get

$$(3.11) \quad \begin{aligned} \widetilde{S}_n^\sigma(h, \xi) &= \sum_{k=1}^{n-1} \left(\sigma \left(\frac{k}{n} \right) - \sigma \left(\frac{k+1}{n} \right) \right) \frac{-1}{\pi} \int_{\pi/n}^{\pi} \frac{\psi_\xi(t)}{2 \tan \frac{t}{2}} dt \\ &\quad + \sum_{k=1}^{n-1} \left(\sigma \left(\frac{k}{n} \right) - \sigma \left(\frac{k+1}{n} \right) \right) \frac{1}{\pi} \int_{\pi/n}^{\pi/k} \frac{\psi_\xi(t)}{2 \tan \frac{t}{2}} dt \\ &\quad + \sum_{k=1}^{n-1} \left(\sigma \left(\frac{k}{n} \right) - \sigma \left(\frac{k+1}{n} \right) \right) \frac{1}{\pi} \int_{\pi/k}^{\pi} \frac{\psi_\xi(t)}{t} \cos kt dt \\ &\quad + \sum_{k=1}^{n-1} \left(\sigma \left(\frac{k}{n} \right) - \sigma \left(\frac{k+1}{n} \right) \right) o(1) - \frac{\sigma(1)}{\pi} \int_{\pi/n}^{\pi} \frac{\psi_\xi(t)}{2 \tan \frac{t}{2}} dt \\ &\quad + \frac{\sigma(1)}{\pi} \int_{\pi/n}^{\pi} \frac{\psi_\xi(t)}{t} \cos nt dt + o(1) = J_1 + J_2 + J_3 + J_4 + J_5 + J_6 + o(1). \end{aligned}$$

By (3.8) and Lemma 3 we get

$$(3.12) \quad J_1 + J_5 = \frac{\sigma\left(\frac{1}{n}\right)}{\pi} \int_{\pi/n}^{\pi} \frac{\psi_\xi(t)}{2 \tan \frac{t}{2}} dt = O\left(\frac{1}{n}\right) o(\ln n) = o(1) \quad \text{as } n \rightarrow \infty.$$

By (3.8) for $\varepsilon > 0$ there exists $\eta_1 > 0$ such that $|\psi_\xi(t)| < \varepsilon$, if $0 < t < \eta_1$. Thus

$$(3.13) \quad |J_2| \leq \sum_{k < \pi/\eta_1} O\left(\frac{1}{n}\right) \int_{\pi/n}^{\pi} \frac{|\psi_\xi(t)|}{t} dt + \sum_{\pi/\eta_1 \leq k \leq n} O\left(\frac{1}{n}\right) \int_{\pi/n}^{\pi/k} \frac{O(\varepsilon)}{t} dt$$

$$= o(1) + O(\varepsilon) \sum_{\pi/\eta_1 \leq k \leq n} O\left(\frac{1}{n}\right) \ln \frac{n}{k}.$$

It follows from (2.1) and (3.13) that $J_2 = o(1) + O(\varepsilon)$, and hence

$$(3.14) \quad \lim_{n \rightarrow \infty} J_2 = 0.$$

In order to estimate J_3 and J_6 we consider the integral

$$(3.15) \quad P_k := \int_{\pi/k}^{\pi} \frac{\psi_{\xi}(t)}{t} \cos kt \, dt.$$

By Lemma 4 there exists $\eta \in (0, \eta_1)$ such that

$$(3.16) \quad \Delta(\psi_{\xi}(t), [0, \eta]) < \varepsilon.$$

Set $k_0 = \lceil \frac{\pi}{\eta} \rceil$ and for $k \geq k_0 + 1$

$$m = m_{\eta}(k) = \left\lceil \frac{1}{2} \left(\frac{k\eta}{\pi} - 1 \right) \right\rceil.$$

Now

$$(3.17) \quad \begin{aligned} P_k &:= \int_{\pi/k}^{\eta} \frac{\psi_{\xi}(t)}{t} \cos kt \, dt + \int_{\eta}^{\pi} \frac{\psi_{\xi}(t)}{t} \cos kt \, dt \\ &= \sum_{j=1}^m \frac{k}{(2j-1)\pi} \int_{(2j-1)\pi/k}^{(2j+1)\pi/k} \psi_{\xi}(t) \cos kt \, dt \\ &\quad + \sum_{j=1}^m \int_{(2j-1)\pi/k}^{(2j+1)\pi/k} \left(\frac{1}{t} - \frac{k}{(2j-1)\pi} \right) \psi_{\xi}(t) \cos kt \, dt \\ &\quad + \int_{(2m+1)\pi/k}^{\eta} \frac{\psi_{\xi}(t)}{t} \cos kt \, dt + \int_{\eta}^{\pi} \frac{\psi_{\xi}(t)}{t} \cos kt \, dt. \\ &= P_{k1} + P_{k2} + P_{k3} + P_{k4}. \end{aligned}$$

Denote $I_{j,k} = \left[\frac{(2j-1)\pi}{k}, \frac{(2j+1)\pi}{k} \right]$, then

$$(3.18) \quad \left| \frac{k}{\pi} \int_{(2j-1)\pi/k}^{(2j+1)\pi/k} \psi_{\xi}(t) \cos kt \, dt \right| = \frac{2}{|I_{j,k}|} \left| \int_{I_{j,k}} (\psi_{\xi}(t) - \psi_{j,k}) \cos kt \, dt \right|$$

$$\leq 2\mu_{I_j,k}(\psi_\xi)$$

where $\psi_{j,k} = \frac{1}{|I_{j,k}|} \int_{I_{j,k}} \psi_\xi(t) dt$. Hence by (3.18) we get

$$|P_{k1}| \leq 2 \sum_{j=1}^m \frac{\mu_{I_j,k}(\psi_\xi)}{j}.$$

Since for $t \in \left[\frac{(2j-1)\pi}{k}, \frac{(2j+1)\pi}{k} \right]$ we have

$$\frac{1}{t} - \frac{k}{(2j-1)\pi} = O\left(\frac{1}{kt^2}\right).$$

Therefore

$$(3.19) \quad P_{k2} = O\left(\frac{1}{k}\right) \int_{\pi/k}^\eta \frac{|\psi_\xi(t)|}{t^2} dt = o(1).$$

It is evident that

$$(3.20) \quad P_{k3} + P_{k4} = o(1),$$

Hence by (3.15)–(3.20),

$$(3.21) \quad |P_k| \leq O(1) \sum_{j=1}^m \frac{\mu_{I_j,k}(\psi_\xi)}{j} + o(1) = O(\varepsilon) + o(1).$$

It follows that

$$\begin{aligned} |J_3| &\leq \left| \sum_{k \leq k_0} \left(\sigma\left(\frac{k}{n}\right) - \sigma\left(\frac{k+1}{n}\right) \right) P_k \right| \\ &\quad + \left| \sum_{k \geq k_0} \left(\sigma\left(\frac{k}{n}\right) - \sigma\left(\frac{k+1}{n}\right) \right) P_k \right| \\ &= \sum_{k \leq k_0} O\left(\frac{1}{n}\right) O(1) + \sum_{k \geq k_0} O\left(\frac{1}{n}\right) (O(\varepsilon) + o(1)) = O(\varepsilon) + o(1), \end{aligned}$$

as $n \rightarrow \infty$. Therefore we have

$$(3.22) \quad \lim_{n \rightarrow \infty} J_3 = 0.$$

It follows from (3.21) that we also have

$$(3.23) \quad \lim_{n \rightarrow \infty} J_6 = 0.$$

By combining (3.11), (3.12), (3.14), (3.22) and (3.23) we obtain (3.2). \square

3.2. PROOF OF COROLLARY 1. Set $p = 1$ and $\sigma(x) = -\pi x$. Then σ satisfies the assumptions of Theorem 1. By Theorem 1 we get (1.8) with $p = 1$. By Lemma 5 we see that this is equivalent to (1.8) with arbitrary $p > 0$. \square

3.3. PROOF OF THEOREM 2. In [3], Kvernadze constructed an example $f \in C \cap \Lambda BV$ such that

$$\limsup_{n \rightarrow \infty} \frac{|S_n(f, 0)^{(2r+1)}|}{n^{2r+1}} > 0,$$

hence (1.6) does not hold. Since $\Lambda BV \subset \Lambda BMV$, this example works for proving Theorem 2. We omit the details. \square

3.4. PROOF OF THEOREM 3. By Corollary 1, (1.8) holds for $p = 1$. Then by Lemma 6 we get the conclusion of Theorem 3. \square

3.5. PROOF OF THEOREM 4. The same counterexample as Theorem 2 can be used to prove Theorem 4. We omit the details. \square

References

- [1] A. Gelb and E. Tadmor, Detection of edges in spectral data, *Appl. Comput. Harmon. Anal.*, **7** (1999), 101–135.
- [2] B. I. Golubov, Determination of jump of a function of bounded p -variation by its Fourier series, *Math. Notes*, **12** (1972), 444–449.
- [3] G. Kvernadze, Determination of jumps of a bounded function by Its Fourier series, *J. Approx. Theory*, **92** (1998), 167–190.
- [4] F. Lukács, Über die Bestimmung des Sprunges einer Funktion aus ihrer Fourierreihe, *J. reine angew. Math.*, **150** (1920), 107–122.
- [5] F. Móricz, Determination of jumps in terms of Abel–Poisson means, *Acta Math. Hungar.*, **98** (2003), 259–262.
- [6] F. Móricz, Ferenc Lukács type theorems in terms of the Abel–Poisson mean of conjugate series, *Proc. Amer. Math. Soc.*, **131** (2003), 1234–1250.
- [7] Q. L. Shi and X. L. Shi, Determination of jumps in terms of spectral date, *Acta Math. Hungar.*, (2006), to appear.
- [8] X. L. Shi, On ΛBMV Functions with some applications to the theory of Fourier series, *Sci. Sinica. Ser.*, **A28** (1985), 147–158.
- [9] D. Waterman, On covergence of functions of generalized bounded variation, *Studia Math.*, **44** (1972), 107–117.
- [10] A. Zygmund, *Trigonometric Series*, Cambridge University Press (Cambridge, UK, 1959).